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INSTRUCTIONS AND INFORMATION

Read the following instructions carefully before answering the questions.

1. Answer ALL the questions.

2. Write ALL the answers in the ANSWER BOOK.

3. Start the answers to EACH question at the top of a NEW page.

4. Number the answers correctly according to the numbering system used in this

qguestion paper.

. Present your answers according to the instructions of each question.

i Make ALL drawings in pencil and label them in blue or black ink.

7. Draw diagrams, tables or flow charts only when asked to do so.

8. The diagrams in this question paper are NOT necessarily drawn to scale.

g Do NOT use graph paper.

10. You must use a non-programmable calculator, protractor and a compass,

where necessary.

171, Write neatly and legibly.
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SECTION A
QUESTION 1
1.1 Various options are provided as possible answers to the following questions.

Choose the correct answer and write only the letter (A to D) next to the
question number (1.1.1 to 1.1.5) in your ANSWER BOOK, for example

1.1.6 D.
1.1.1 Which ONE of the following are branching filaments that make up
the mycelium of a fungus? (2)
A Cilia
B  Hyphae
C  Proteins
D  Flagella

1.1.2 Which ONE of the following organisms acts as a vector in the
transmission of malaria? (2)

A Plasmodium

B Anopheles

C  Amoeba

D  Mycobacterium

1.1.3 Edward Jenner infected a boy with cowpox (which resembles a mild
form of smallpox). When the boy recovered from the cowpox, Jenner
infected him with smallpox. No disease developed. This was the

discovery of the first successful ... (2)
A antibody.

B  virus.

C  vaccine.

D  antibiotic.

1.1.4 Lichen is a combination of algae and fungi. The fungi absorb water
and make it available to the algae for photosynthesis. Fungi are
heterotrophic and obtain their nutrients from the algae.

Which ONE of the following represents the relationship described
above? 2)

A Competition

B Parasitism

C Commensalism
D Mutualism

1.1.8 Seeds are better suited for survival than spores because they ... (2)
A can remain dormant for long periods.
B  are dispersed by wind only.
C  have alimited food supply.
D are smaller.

(5x2)  (10)
TOTAL SECTIONA: 10
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SECTION B
QUESTION 2
2.1 Cholera is a disease caused by the bacterium Vibrio cholerae. An outbreak of

cholera occurred in London in 1849. An investigation was conducted to
determine the relationship between the number of deaths from cholera and
the height above sea level at which people lived.

The results of the investigation, obtained from historical records, are shown in
the graph below.

100

Numbar of

deaths por

10000 fram
cholera

0 20 40 650 80 100 120

Height above sea level/m

2.1.1 State a hypothesis for the investigation. (2)

212 The population size of London in 1849 was 2,5 million. Use
information from the graph to determine the number of deaths from
cholera at a height of 10m above sea level.

Show all working. (2)
et Provide TWO possible explanations as to why antibiotics may

sometimes prove ineffective in the control of cholera. (4)
214 The last major outbreak of cholera in South Africa occurred in

2004. Of the 738 people who were diagnosed with cholera, a total
of four died from the disease.

Suggest TWO reasons for a decrease in the number of deaths

from cholera over time. (2)
(10)
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2.2 The uterus is a female organ in which offspring develop before birth. The
lower end of the uterus is called the cervix.

Scientists investigated the link between cervical cancer and infection with
some types of Human Papilloma Virus (HPV).

The table below shows the frequency of five different types of HPV in women
who had cervical cancer.

Type of Human | Percentage of women with cervical cancer
Papilloma Virus (HPV) who have this type of HPV
HPV6 2
HPV11 2
HPV16
HPV18 16
| HPV31 8
2.2.1 A local newspaper published an article about cervical cancer with

the headline “HPV6 is the main cause of cervical cancer”.
Does the data in the table support this claim? Explain your answer. (2)

2.2.2 Scientists have developed vaccines against HPV. The vaccines
contain HPV antigens.

What is an HPV antigen? (1)
2.2.3 Explain why antibiotics will be ineffective against HPV. (2)
(5)

[15]
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QUESTION 3

31 Read the extract below and answer the questions that follow.

How a Seed Bank, almost lost in Syria’s War, could help feed a
Warming Planet

Ali Shehadeh is a plant conservationist from Syria. His goal is to safeguard
those seeds that may be hardy enough to feed us in the future, when many
parts of the world could become as hot, arid and inhospitable as it is in the
Middle East.

As the War in Syria intensified Mr Shehadeh was forced to leave the Icarda
Seed Bank in Syria and flee his country.

However, long before the War, in 2008, Icarda had begun to send seed
samples to the Svalbard Global Seed Vault in Norway. This vault is built
deep into the side of a mountain, situated above the Arctic Circle.

Mr Shehadeh hunts for the genetic traits that will be most useful in the
future: resistance to pests and blistering winds and the ability to endure
intensely hot summers. He tries to select for these traits and breeds them
into the next generation of seeds.

3.1 State TWO benefits of seed banks indicated in the extract. (23

312 Explain why seeds originating in the Middle East would be suitable
for cultivating in all parts of the world in the future. (2)

813 State why the location of the Svalbard Global Seed Vault may be
regarded as ideal for seed preservation. (1)

(5)

Copyright reserved Please turn over



Life Sciences - Grade 11 7 Common Test March 2018
NSC
3.2 Study the phylogenetic tree below showing how four plant groups evolved.
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3.2.1  Name the common ancestor of all the plant groups represented, (1)
3.2.2 List TWO characteristics of mosses shown on the phylogenetic
tree. (2)
3.2.3 Ferns are dependent on water for fertilization.
Provide evidence from the phylogenetic tree to justify this
statement. (1)
3.2.4 Angiosperms are the largest and most diverse group of plants.

Copyright reserved

Explain why the presence of flowers has made the angiosperms

more successful over the gymnosperms.

(2)
(6)
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3.3 The electron micrographs below show pollen grains (A and B) from two
different plants.

A B
237 Define the term pollination. (2)
3.3.2 Explain an observable feature of pollen grain A that makes it suited
for pollination by animals. (2)

(4)
[15]

TOTAL SECTION B: 30

SECTION C
QUESTION 4
Describe the body plans of the phyla Porifera and Platyhelminthes in relation to their
respective modes of life.
Content: (17)
Synthesis: (3)

NOTE: NO marks will be awarded for answers in the form of flow charts, tables or
diagrams.

TOTAL SECTIONC: 20

GRAND TOTAL: 60

Copyright reserved



pansasal Jybukdon 19A0 UIN} ases|q pasasal wbuhdog

‘uondeo e aaey Jsnuw (-o}a ‘sajqe) ‘sydesd ‘swelBeip) suonensny| |y
uondey 4|

‘sabed g 0 s)sisuoD wnpuelowsaw siy |
Aem juaiaip e ul pajels oq ABW YaIym JaMSUE UE JO 9SUSS BU) O} aAnisuas ag 9|
‘AS1esedas SHUN 10§ SHIBW DBIOJ[E [|IM WNPURIOWS} “SHIEW 2s0] ||IIm S3)EpPIPURD
sjuswainseaw ui uaAlb Jou ate syun §| gy

“Hpa12 Jou oQ
(es1aa 201A pue) uaAIb s| sweu syj AJuo 3nq “10j payse si 19133} ayphuo g  pi
‘Bunsaw uoissnosip owsw jeucheu ay) je paidease sem i papinoid ‘1daooy

ABojouiuuia) ui uaalb ale sawey UOWIWOD 0ol

“IXSJUOD JO N0 SI |1 JI 10 SBOUAIDS 09 SMYUVIN
347 ui 8sjs Buylawios uealw Jou saop ) papinoid ‘lamsue oy) jdaooe ‘s|qesiubaosas §|

sioue Buyjjedg gy

daooe jou oQ
Bulueaw papusjui sy sabueys pasn aobenbuejy |}

"a|ge)daaoe L 3avys
S ‘uaAIB s1 Jequinu Buoum ay) Ing ‘suonsanb 0 9ouaNnbas 1081100 By} ojul S}y Jamsue i

Buuaquinu Buoipy Q)

1991102 I JMSUE BY]) J0 1821 3Y) JIpaI0 Ing
‘uolielnaiqqe pasiubiosalun sy} JIpaio 10U Op ‘paulysp JoU J| ISMSUE U pauysp Isuy § 1daooy

suoneiasiqqe pasiubosas-uoy g J1¥OIdiLd3D HOINTS
YNOILY
‘Upa.d swnsal ‘wiebe 1981100 aWov8q $HUI puB 83usnbas J| JpaId Jou o)
Op 1081100Ul B1€ S}UI| PUB 92USNDBS BJAYAN "NPaID ‘198100 s S)uUl| pue sousnbas asaypp
ASU3S 2)jew Jou Op SHul| pue pa|ppnw sl asusnbasy g
.wv_hmc._wmo____.__swwum_u_u:mo \sﬂmﬂmHNNMHHﬂﬂHmmHHHHn-I.Hmmﬂnﬂﬂnﬂmmmﬂnnmﬂmnﬂmmmnﬂﬂ
suoiduosap jo pesisul usalb ase SHEYD MO}} JI i _.
x 8102 HOYUVIN - ANIT3AIND ONIMIVIN
‘S}JEW 3S0] ||IM SIJEPIPURD ®
paiinbai aie suonduosep uaym SUOEIOUUE UM uaalb ase swesbeipy; 9 i
1]
‘Buneinge; jou 10y sylew 9s0] ||Mm salepipueD) “ .me._. ZO_EEOO o
uaaib ale sydesBesed Ing ‘pasinbal sy uone|ngey § G " "
1] L1}
13| ale sanue|iwis/saoualapip ay) y 1danoy . S3ON3I0S 341 WU
:w>_mEmm:o_atuwmu“:n:vaxwmuhmm:cmrmano: b ,anuuuuuuuuuuuuuuuuunuuuumuuuumuuuuuuuuuuuuumuuw\
“Wed Jueasjas ay) Jipauo pue || pesy
paJinbai si 31 jo ped e juo uoym uaalb s ssasoud ajoym 4 >
108.4100UIN981100 Bl SLIOS 10 [|B J3Y1aUMm JO sAnoadsalll aaiy) 1841 aY) e
uaalb aie oAl pue paiinbas ale suoseas aa.y) ‘sidwexs 10}y 7
T — VOlddv HLNOS 40 21Ngnd3ay
4B By} Ut xew, pue aulj Arem e Ind pue paydess i SyIEW WNLXew uaym Bupjew dojg uoljeonpg jo yuswiiedag jeleN-ninZemy|
uaAlb s1 pajeoo)ie sxysew uey) uogeuuoul saow |
uoljeon
SIONIIIS 41T ONIMEVIN OL 3LV 1IN SITdIDNINd ...—. Um

auepINg Bupiey — DSN

1S9 UOWWOD) Yoy z LI "TRID - $80UBI0G 9y




Life Sciences — Grade 11 3 Me  Common Test 2018

SECTION A
QUESTION 1

1.1
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SECTION B

QUESTION 2

23 24
21.2
248
2.1.4
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NSC — Memocrandum

v
v
v

v
vV (5x2) (10)

OO0 W@

TOTAL SECTION A: 10

As height above sea level/altiude increases the death rate from
cholera increasesv'v’

OR
As height above sea level/altitude increases the death rate from
cholera decreasesv' v’

OR
Height above sea level/altitude has no effect on the death rate from
cholerav'v’ (2)
60
——— x 2 500 000v
10000
=15 000v @)

- Course of antibiotics not completedv’
- resulting in production of morev bacteria

- Mutationsv’of bacteria may occur
- making them resistantv'to antibiotics

- Overusev of antibiotics
- kills antibiotic-sensitive bacteriav’, allowing antibiotic-resistant

bacteria to grow and multiply Any 2 x2 (4)
{Mark first TWO only)

- Introduction of antibiotics v
- Improved sanitationv’
- Improved hygienev’ Any 2 (2)
(Mark first TWO only)
(10)
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2.2 2.21

222

223

QUESTION 3
3.1 3:11

3.2 3.2.1

322

324

3:3 3.3.1

3.3.2
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NSC — Memorandum

Nov" - A high percentage of women with cervical cancer have

HPV16v
OR
Nov - A low percentage of women with cervical cancer have
HPV6v

Substance/molecule from HPV capable of producing an immune
responsev’/antibodies

- Antibiotics are only effective in destroying livingv” organisms
- Viruses, like HPV, do not have the general characteristics of living
organisms ¥

- Ensure food securityv’

- Preservation of seeds that are resistant to pestsv’

- Preservation of seeds that are resistant to harsh weather
conditions¥'/heat/drought/wind Any 2

(Mark first TWO only)

- These seeds are adapted for survival in hot, dry conditionsv” that
may occur in all parts of the world in the future

- due to climate change/global warmingv’

Coolv conditions (in Arctic/polar region)

Securev’ location (deep inside mountain) Any 1

(Mark first ONE only)

Algaev’

- Non-vascularv’
- Motile gametesv’

Motile spermv’

- Flowers have a larger variety of pollinating agentsY’

- increasing their chancesv” of pollination/fertilization/reproduction
- Transfer of pollenv’

- from an anther to a stigmav’

- Rough/spiky edgesv’
- to attachv” to body covering of animal

Total Section B:

March Common Test 2018

(2

(1)

{2)
[1s]

(2)

(1)
(5)

(M

(2)
(4)
[15]
30
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